Q1. The three capacitors in the figure 1 have an equivalent capacitance of 2.77 μF. What is C2? (Ans: 7 μF).
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Q2. What is the charge on C3 in the figure 2? (Ans: 16 μC).
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Q#3. A battery having potential difference V = 12 V and four capacitors, each having a capacitance of 12Fμ, are connected as shown in the figure 1. What is the charge on C2?  (Ans: 72 C μ)

[image: image3.wmf]
Q#4:  The equivalent capacitance between points a and b in the combination of capacitors in figure 6 is: (Ans: 1.0*10**(-6) F.)
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Q5.: Given a 9.4 pF air-filled capacitor, you are asked to convert it to a capacitor that can store 9.4 μJ, with a potential of 877 V. What is the dielectric constant of the material that you must insert between the plates of the capacitor? (Ans: 2.6)

Q6.: An air-filled parallel-plate capacitor is connected across a 24 V battery. When the battery is disconnected and then a dielectric slab is inserted into and fills the region between the plates, the voltage across the capacitor drops to 8 V. What is the dielectric constant of the slab? (Ans:  3.0)

Q7. When the potential difference across a 5 μF capacitor is increased by 2 V, the energy stored increases by 10 %. What was the original potential difference? (Ans:  40 V).

Q#8: Three capacitors C1=5 micro-F, C2=10 micro-F and C3= 3 micro-F  are connected to a 20 V battery as shown in Figure 8.  Find the stored electric energy in C2.  (Ans: 2.2*10**(-4) J.)
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